MAGYAR AUTO-ES MOTORSPORT
SZOVETSEG

MAGYAR NEPKOZTARSASAG 1984.EVI AUTOCROSS
BAJNOKSAG VEGEREDNMENYE

CROSS I.0SZTALY

Budapest,1984, december hd,
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Hagy Sdndor
Hellinger Guegtdy
Dardzs Antal
Szehd Péter
Hanuls Barna
Raddk Sdndor
Nébik Ferenc
Gubala Pal

Téth Sandor
Kovdecs Lajos
Kflkuti Attils
Jelinek Lé=szld

Oz Lajos

Ratkal Sdndor
Petyovezkl Jézgef
Harmatos Attils
Szebd Andrds
Dardzs Ferenc
Bartus Liszls
Pintér Hdroly
Kigsg Isjos

Tzds Tibor

XI.ze, Autdjav.MHSZ Szeged B
{n}+20+€m}+{m}+20+20+2c+20+2c=12¢ pon
Fétaxi SG. Volw
lo+12+(0)+(4)+15+ 8+12+15+15 = 87
Voldn SC. Szeged Renault
15+1o+ o+20+{0)+1lo4l5+1lo+{0) = Bo ™
Caepel Autd SE, Volve
2o+15+( 0)+15+12+154¢10(1)+ 1 =78 =&
BME-KNHSZ Leda
3+ B+20+(0)+lo+12+ o+ o+l2
Kanizsa Strgydr SE Lada
8+ 2+15+12+(0)+ 6+(o)+12+4 =59

Volan SC, Szeged Audi
1+ 6+ 44+ o+ 8+ 2+ 8+(o)+(o) =29 v

=65

Bujdk SK. e
12+ (=) 4o+ =+124stat 3+ O _07 u
Wneddd Diwoa TSE SE. Audi

2+ 4+i2+(0)+ o+ o+ 6+{o)+ 2 =26 ©
Cgepel Autd SE, Tadtra
(=)+ 3+ o+ B+ o+ o+{0)+ o+ 8 =1§
BUE-MHSZ T2ira
o+ o+{=)+(e)+ 3+ 4+ 4 + 2+ 6= 19 ©

II,Autdjav,MHSZ Szeged BIIW
o+ Ll {o)+(o)+6+3+0+6+0 =16 "

Fitaxi SC. Fiat
ot+o+otrloto+l+3+(0)+( o) = T

Tirkevel VSE Lada
o#o)+0+6+0+0+0+8+(0) = = 14 ©
Coepel Autdé SE. Chevrolet

o+ ot+lo+ O+(C)+(o)+ot+oto= 1o "

Ceepel Autd SE Volvo
o+0+(=)+0+0+~+0+1o = Lgom
XT.Autdjav. Szeged Lada
b+o+3+o0+o0+(0)+ot+ot(e) = g ©
Kanizsa Strgysr 5B Lada
d+o+(0)+3+0+0+2+(0)+0 =T
TirkeveiVSE BMwW
ot+o+8+o+o+(=)+o+(_)+0 = B
Kanizss Strgydr SE Csajka

(0)+0+o+o+4+o+( 0) +0+3 T e

XI, Autéjav,MHSZ Szeged Lads

(=)+o+5+o+o+(0) +o+o+0 = G
MHSZ Esztergom Mogzlkvics
o+{ 0)+0+0+otatototd+(o) = 4 ™
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Kovaca Tibor MHS? Eaztergom BLW

o+ﬂ+o+2+o+(o}+1:{c)+o = 3 pont

I. Gépoaztdly

Hanuls Barns BME-MHSE

Lads
(235+9+3+6+6+3+(2)+6 = 42
Raddk Sdndor Kenizga Strgydr SE Lads
6+6+6+9+(0)+4+( 0)+6+4 = 41
Dardza Ferenc Kanizss S@rgydr SF Lada
3+4+(c)+4+4+43+64+(0)+1 = 25
Ratkai Sdndor Tirkevei VSE Ladsa
1+(0)+2+6+0+2+4+4+(0) = 19
Szabd Andréds XI.utdjav.MHSZ Szeged L=dsg
A+2+3+42+41+(1)+2+1+/0) = 15
Kiss Lajoa XIl.Autojev,MHSZ Szeged Lade
(=)+60)+4+1+3+0+0+0+3 = 11
Ulveczly Sdndor Tirkvevei VSE Lada
Ot+3+0+0+0+0+ (=) +(=)+2 = 5
Izad Tibor MHSZ Feztergom Mnoszkvics
(o)+(o)+o+0+240+5+340 = 5
Balogh Iatvdn Szentendrei Petdfi SC. Lada
(e)+1+l+otc(=)+l+0+0 = 3
IT. géposztdly
Nagy Sdndor XI.Autdjav.MHSZ Szeged BuwW
(0)+9+0+(0)+9+9+9+9 = 54
Daréza Antal Voldn 5C. Szeged Renault
6+3+(0)+9+(0) +4+6+4+0 = 32
Hellinger Gusztdv Fdtaxi SO Volve
3+44+(0)+(2)+6+3+446+6 = 32
Szabd Péter Czepel Auté SE. Volvo
9+6+( 0)+6+0+64+3+(0)+0 = 30
Téth S&ndor Domaddi Ddzsa TSZ SE Audi
2+1+9+(o)+o+o+l+(0)+0 = 13
Nébik Ferene Volan S5C.Szeged Audi
L+2+43+0+3+0"2%(0)+(0) = 11
Gubale P4l Bujik Sk Chevrolet
A+(=)tot{ =) +44—+—+2-2 = 10
Petyovezky Jézsef Csepel Autd SE Chevrol et
o+0+6+o+(e)+(0)+c+0r0 = &
0z 145214 Fétaxi SC Fiat

otot2+d+oto+ot(o)+(a) = 6

i
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-

lo./ Kovdes Lajos Csepel futd SE. Tdtra
(=)+o+o+3+o+o+(0)+0+3

11./ Jelinek Liszld XL, Autdjav.MHSZ Szeged BMW

)
o
=
o
H
ot

oto+/o/+{ o) +241+0+3+0 = 6 0
12,/ Kékuti Attils BME-MHSZ T4tra
0+0+(=)+(0)+0+2+0+142 = 5 !
13,/ Bartus Liszls Tirkevei VSE BMW
0+0+4+0+0+(~)+o+(=)+0 = 4
Harmatos Attils Coepel Autda SE Velvo
o+o+(=)+(~)+otos—+o+d = 4 0
15./ Kovdes Tibor MHSZ Esztergom BIW
o+o+l+l+o+(o)+o+(a)+o = 2 n
Pintér Kdroly Kanizga S8rgydr SE Cas jka
(o)+o+otorl+o+(o)+o+l = 1
CSAPATVERSENY
1./ GSEPEL AUTO SE, 130 pont
2./ XI.AUTGJAV,.MHS? SZEGED 120
3,/ TFOTAXT sC. g7 n
4,/ BUDAPESTI MUSZAKI E,MHSZ 84 v
4% 5./ EABIZBA SURGYAR ST, I8
6./ TURKEVEI VSE, 12 @
7./ SZENTENDREI PEE® PI 50, & m



FAGYAR AUTO-ES WMOTORSPORT
SZ0VETIEG

MAGYAR NEPKOZTARSASAG 1984,EVI.AUTOCROSS
BAJNOKSAG VEGEREDMENYE

CRGSS II, GSEE&Y

Budapest,1984. december hd.
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Szekeres Sdndor
Holop Léamlﬁ
Kirdly Antel
Biel Arpda
Kaltenecker Tamds

Glédzer Jdnog

‘Kiss Gysrey

Keppdny Csongzem
Sujké SAndor
Molndr Gyula
Czeglédy Imre
Vinczer Géza
Kocsdri Gydrgy
Szabd Kdlmédn
Leitold Jdnos
Pelyve Jézsef
Mészdros Gybrgy
Keszter Gybregy
Kovdos Ldszld
Radics Istvdn

Fédri Sdndor

Kanizsa Strgyédr SEH. Lad

=1
2o+(0)+10o+(3)+8+15+15+12= 8o pont

MHSZ E=sotergzom Piat
(0)+(1,5)+12+4+20+20+12+106a78

KIqﬁutégav.MHSZ Szeged Chevrolet

A+8+(1)+8+15+(0)+2o+20= 75
Fdtaxi sC Lada
12+20+8+15+( a)+o+{0)+15= 7o
Csepel Autd SE Lads
(o)+3+20+2+2+10+( 0)+B= 45
Caepel Autd SE, Renault
15+12+15+0+o+(~)+{a)+0= 42
MHSZ Esztergom Lada
lo+(o)+(0)+12+1+4+0= 29
MHSZ Esztergom Lada
B+6+0+{ 0)+12+(a)+3+0= 29
Démzgdi Dézsa TSZ SE. Audi
3+(0)+2+10+6+B+0+( =)= 29
Belker 5C, Wartbung
otl5icrot(o)+( o) +4+46= 25
Fétaxi sC, ' "Leda
(«-)+(=)+o+~+lo+o+lot+ds 24
Turlkevei VSE Mogzkvics
2+lo+d+ot (o) +(=)+b+0= 22
Belker 8C, Chavrslet
(== )41, 54 (=) 42 0t tmtrm= 215
Tirkevei VSE Wartburg

b+o+o+l+o+12+(0)+(0)= A9

Belker SC. iartburg
o+o+o+6+(0)+(0)+B8+1= 15
Tirkevei VSE Wartburg
(o)+(0)+6+0+0+2+0+3= 11
Domaddi Dézaa TSZ SE, W
ot+d+o+oHo) +b+0+(0)= 1o
Fétaxi 5C. Warthurg
o+ot{=)+o+4+3+({ 0)+o= 7
Czepel Autd SE. Lads
I+ (=) + (=) 4=4+3+04=+2= 6
Tarkavei VSE ™ Warnibupg
otot+3+(0)+0+(0)+o+o= 3
Fé8taxi SC, Lada

(0)+(0)+=t—toto+l+0= 1
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Szekeres Sdndopr
Biel Arpdd
HKeltenecker Tamdg
Koppdny Caongor
Czeplédy Imre
Kigs Gybrey
Molndr Gyula
Vincrzer Géza
Szabd Kdlmdn
Leitold Jénos

Keazterg Gybrgy
Pelyva Jézeef

Kovdcs Liszld
Kacgdri Béle

Radice Igstvdan

II.GEPOSZTALY

Holop L4szléd
Kirdly Antel

Glizer Jinos

Kenizse Strgyir SE,
9+(u)+6+(3§+4+9+9+5=

P8taxi S0,
6+9+449+(0)+o0+(0)+9=

Csepel Autd SE.
(0)+2494241+4+( 0) +4x

MHSZ Esztergom
3+3+0+(0)+9+(0)+1+0=

F‘Stﬂxi SC .
(=)+{=)+0otm+tbt0sb64+2a-

MHSZ Esztergom
4+{o)+{o§+6+o+3+o+o=

Belker SC.
o+b+oto+(0)+(0)+2+3=

Turkevei VSE.
l+4+2+0+(0)+(=)+3+0=

Mirkevei VSE
2+ot+o+l+otb+(o)+(ol=

Belker SC.
o+o+o+di+(o)+( o) +4+0=

Fétaxi SC.
0+0+{(=)+0+3+2+(0) +0=
Tarkevei VSE.
(0)+(0)+3+o+o+l+o+l=
Coepel Autd SC.
0+(=)+(=)+=+240+~+0=
Belker SC.
(=)4+1+{=) +04=tOtmtm=
Tirkevei VSE.
o+o+l+(0)+o+{o0)+oto=

MHSZ Esztergom
(a)+(0)+3+1+4+6+3+3=
XI.Autéjav.MHSZ Szeged
343+1+(2) +342+4+4=
Caepel Autd SE.
A+4+4+( 0)+1+ (=) +0+2=
Démgddi Dézsa TSZ SE.
2+(0)+2+3+2+4+1+(0)=

Iadn

43 pont

Lads

gfr »
Lade

22 ii
Lade

16 7
Lads

14 6
Lada

T3
Wartburg

11 i

Moszkvics
10 L}

Wartburg
9 "

Yertburg
B i

Wartburg

5 ]
Wartburg

5 11}
Lada

2 H
Ladg

1 "

Wartburg
13

Fiat

20 pont

Chevrolet
19 H

Rensult
15 ™

Audi
14 []]
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5./ Mésziros Gybrgy Ddmssdi Dézsa TSZ SE. VW
1+2+(o)+( o) +34241= 9 pont
6./ Kacadri GySrey Belker 3¢, Chevrolet
(=) +1(m)+d+atmto+o= 5 M
T./ Tricakd Istvédn Miskolei Autdjav, W
(=)+(=) trdmt 0t Limtms 1
CSAPATVERSENY
1./ MHSZ Esztergom 99 pont
2,/ POTAXI se. 85
3,/ Dbmegdi Dézsa TSZ SE, 8o 1
4./  Mirkevel VSE 77
5./  CSEPEL AUT( SE. 4 @
6./ BELKER S0, 4o M




